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b) How mamy mibes did yeu drive during the weak if the weekly cost To rent

the car was $32%7 |
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2. A plant con manufacture 50 golf chibs per day at a tatal daly easzt of $5145 and
75 golf clubs per day for a total cost of $6893,

e o) Assuming that daily cast and preduction are linearly related, find the

chulr ol dailyicost. €, of producing x golf clubs. ; TMI\EH:E“
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hat the cost to preduce 200 cups of coffee

number of cups of equation that expresses the cost, y, in termg af the

coffee, s -'jl"lﬂ".
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B) Haw many cups of coffee are produced if the cost of production is

$414 507 M-S0 = o 7S X 4 |7 yo M7S —
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4. A former buys a new tracter for $153 000 and assumes that it will heve o
trade-in value of $88 000 after 10 years. The farmer uses o constent rate of
depreciation to determine the anrual value of the tractor,

a) Find a linear model for the depreciated value W of the tractor T years
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